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I 7xmwn: the process of mTyn ny1aw
a  Plaintiff: says to two — “come and testify on my behalf” and they answer
i Either: “we swear that we know no testimony for you”
ii ~ Or: “we know no testimony for you”, he responds by administering an oath and they say “inx” - liable
1 N0 5810V — if they saw the yain chasing them and initiated an oath of denial — exempt
(a) Challenge: this is obvious, as the later mwn rules that they must hear the claim from the ya1n
(i) Defense: we might have thought that his chasing them was tantamount to a request to testify
(b) Challenge: this is also obvious, as our nwn presents the procedure as the yain addressing them
(i) Defense: the same is found in R:n, in re: P7poN NY12w, and there it is certainly not needed (v. 1)
(ii) Answer: we must assume that in our mwn, 90K is needed; else why state it (and then we understand
why it was stated in R:n, following the pattern of our nwn)
1. Alternative: perhaps the nyviwn are just describing the common setting (»2n initiates verbally)
(c) Support: k™2 supports YRINWY —in re: Y”"Maw — chasing doesn’t generate 2vn; in re: 9”Maw — it does
b If: he administered multiple oaths outside of court —
i And if: they came to court and admitted to their testimony — exempt
ii  But if: they denied their testimony (and they prove to have been lying), they are liable for each
1 But if: he administered multiple oaths in court — only liable once
2 Explanation (¢”): in court, they could no longer admit (and testify) after the first denial (...773nw 1172)
iii ~Explanation: why denial must take place in 7”1 — per v. 2 — his denial must be in the place of testimony
1 Challenge (9”): even his oath should be in 172
2 Answer (»aK): v. 3 allows for multiple n’avn; can only happen if he swears outside of 1”1 as per above
II "7 mwn: denial only leads to liability if testimony would have been effective
a  Therefore: if they deny simultaneously (to »”n»[nenx> 9waR], as one; to 1127, M277 713 TN of each other) — both liable
i Butif: they deny in sequence, only the first is liable (since the 2"¥’s testimony wouldn’t have been effective)
1 Note: v"ar1 would disagree, as he allows 8" to be liable for ”maw
(a) Suggestion: their disagreement is whether 1 witness chiefly comes for n»aw (p”n) or pnn (v”ar1)
(i) Rejection: »ar’s ruling (see below) implies that w”ary agrees that X"y can only generate nyaw
(if) Rather: dispute is whether nn% oamn 927 (i.e. NY1aw 2vN) is considered nnn
ii ~ And if: one denied and the next one admitted to his testimony — only the first is liable
1 Challenge: this is obvious; if denial after denial is exempt, certainly admission is exempt
(a) Answer: case where both denied then first one recanted 7”5 7n — teaching that 77on works for recanting
iii However: if there were 2 0"y 'na and both denied- both liable; testimony of the 274 ny would’ve been accepted
1 Question: why is 1%t group liable? The 27 n3 is there to testify
(a) Answer: case where 27 group were 0'anp (through marriage) at time of denial of 1t and their wives
were Moo — we may have thought that oow::nn — 5”"np that until they are dead, the navp %1va holds
III »ar’s epigram:
a  IMIYN Yy TIVN TV T2 DTN HYIM TNR T2 DTN HIN AVID TP NPIYNM AVID *TY2 TN HIM NVID T2 DTN K7
i All agree: that nvYo v (i.e. NRMV 7Y after proper NNV "p) is 270 (i.e. for ¥”mMaw, as his testimony is accepted - v. 4)
ii  All agree: that mp »1y are exempt, as they are 071 07 (2 steps away from any financial liability)
iii Dispute (1237/®7287): whether nno »y are liable, as they are j1n% o
iv  All agree: if both are ny1awn Yy TN, as per ruling that the original claimant collects — directly j1an
v All agree: that one 7Y, in case like 2R "17 X303, where the defendant cannot swear so he pays — liable (directly pnn)
b Similar epigram (£77): 108 RINW NNPN Y2 DTN HIM 27N RINY AN T2 DTN KIN
i exempt: when he already told the wife; based on his report, she may marry
ii  liable: if he didn’t tell her; his withholding his testimony keeps her from marrying
1  note: it seems that ypap »1y areliable (she collects n21n3 from ypap)
(a) rejection: she may have seized »5v50n
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